

Commission on Accreditation (COA) Department of Social Work Accreditation (DOSWA) *Baccalaureate and Master's Social Work Program Accreditation*

2022 EPAS

Form AS M5.0.1(d) | Public Reporting of Assessment Outcomes

UNE Master of Social Work

Generalist Practice | Summary of Plan

Competency	Instrument	Instrument: Expected Level of Achievement	Competency: Expected Level of Achievement for Competency
Competency 1: Demonstrate Ethical	Instrument 1: Practicum Evaluation	3, 4, or 5	
and Professional Behavior	Instrument 2: CITI Assignment (SSWO 504 – week 3)	Overall rubric score of at least 80%	80%
Competency 2: Advance Human Rights and Social, Racial, Economic, and Environmental Justice	Instrument 1: Practicum Evaluation	3, 4, or 5	0004
	Instrument 2: Applying Selected Theories to Film (502)	Overall rubric score of at least 80%	80%
Competency 3: Engage Anti-Racism, Diversity,	Instrument 1: Practicum Evaluation	3, 4, or 5	
Equity, and Inclusion (ADEI) in Practice	Instrument 2: Self- Reflection, Evaluation, and Growth Plan (509 – Week 7)	Overall rubric score of at least 80%	80%
Competency 4: Engage in Practice-informed	Instrument 1: Practicum Evaluation	3, 4, or 5	80%

Competency	Instrument	Instrument: Expected Level of Achievement	Competency: Expected Level of Achievement for Competency	
Research and Research- informed Practice	Instrument 2: Research Article Critique (503)	Overall rubric score of at least 80%		
Commentance 5 - Europe	Instrument 1: Practicum Evaluation	3, 4, or 5		
Competency 5: Engage in Policy Practice	Instrument 2: Final Policy Advocacy Strategy Assignment (505)	Overall rubric score of at least 80%	80%	
Competency 6: Engage with Individuals,	Instrument 1: Practicum Evaluation	3, 4, or 5		
Families, Groups, Organizations, and Communities	Instrument 2: Practice Video 2 & Progress Note (511 Week 7)	Overall rubric score of at least 80%	80%	
Competency 7: Assess Individuals, Families,	Instrument 1: Practicum Evaluation	3, 4, or 5	000/	
Groups, Organizations, and Communities	Instrument 2: Practice Video 2 & Progress Note	Overall rubric score of at least 80%	80%	
Competency 8: Intervene with	Instrument 1: Practicum Evaluation	3, 4, or 5	000/	
Individuals, Families, Groups, Organizations, and Communities	Instrument 2: Practice Video 2 & Progress Note	Overall rubric score of at least 80%	80%	
Competency 9: Evaluate Practice with	Instrument 1: Practicum Evaluation	3, 4, or 5		
Individuals, Families, Groups, Organizations, and Communities	Instrument 2: Assessing Community Readiness Assignment (585 Week 7)	Overall rubric score of at least 80%	80%	

version 12.2022 | Page 3 of 11

Generalist Practice | Summary of Outcomes

	Competency:			
	Expected	Aggregate Actual	Program Option 1	
	Level of	Outcomes:	Outcomes:	
Competency	Achievement	All Program Options	Online	
	Inclusive of			
	All		$\mathbf{n} = (\text{Number of Students})$	
	Instruments	$\mathbf{n} = (\text{Number of Students})$		
Competency 1: Demonstrate Ethical and Professional Behavior	80% of students will demonstrate competence inclusive of 2 measures	N=138 96.15 % + 100= 196.15/2= 98.07%	N=138 96.15 % + 100= 196.15/2= 98.07%	
Competency 2: Advance Human Rights and Social, Racial, Economic, and Environmental Justice	80% of students will demonstrate competence inclusive of 2 measures	N=172 85.13%+100%=185.13/2= 92.56%	N=172 85.13%+100%=185.13/2= 92.56%	
Competency 3: Engage Anti-Racism, Diversity, Equity, and Inclusion (ADEI) in Practice	80% of students will demonstrate competence inclusive of 2 measures	N=171 99.09%100%=199.09/2= 99.54%	N=171 99.09%100%=199.09/2= 99.54%	
Competency 4: Engage in Practice- informed Research and Research- informed Practice	80% of students will demonstrate competence inclusive of 2 measures	N=148 98.86%+100%=198.86/2= 99.43	N=148 98.86%+100%=198.86/2= 99.43	
Competency 5: Engage in Policy Practice	80% of students will demonstrate competence inclusive of 2 measures	N=101 97.56%+100%=197.56/2= 98.78%	N=101 97.56%+100%=197.56/2= 98.78%	

Assessment Data Collected on: June 2024

Competency	Competency: Expected Level of Achievement Inclusive of All Instruments	Aggregate Actual Outcomes: All Program Options n = (Number of Students)	Program Option 1 Outcomes: Online n = (Number of Students)
Competency 6: Engage with Individuals, Families, Groups, Organizations, and Communities	80% of students will demonstrate competence inclusive of 2 measures	N=118 100%+100%= 200/2=100%	N=118 100%+100%= 200/2=100%
Competency 7: Assess Individuals, Families, Groups, Organizations, and Communities	80% of students will demonstrate competence inclusive of 2 measures	N=118 100%+100%= 200/2=100%	N=118 100%+100%= 200/2=100%
Competency 8: Intervene with Individuals, Families, Groups, Organizations, and Communities	80% of students will demonstrate competence inclusive of 2 measures	N=118 100%+100%= 200/2=100%	N=118 100%+100%= 200/2=100%
Competency 9: Evaluate Practice with Individuals, Families, Groups, Organizations, and Communities	80% of students will demonstrate competence inclusive of 2 measures	N=186 91.27%+100%=191.27/2 =95.63%	N=186 91.27%+100%=191.27/2 =95.63%

Specialized Practice | Summary of Plan

Competency	Instrument	Instrument: Expected Level of Achievement	Competency: Expected Level of Achievement for Competency	
	Instrument 1: Practicum Evaluation	3, 4, or 5		
Competency 1: Demonstrate Ethical and Professional Behavior	Instrument 2: Leadership and Supervision Interview with a Social Worker (565)	Overall rubric score of at least 80%	80%	
	Instrument 3 – Biopsychosocial Assessment (597 – Campus)			
	Instrument 1: Practicum Evaluation	3, 4, or 5		
Competency 2: Advance Human Rights and Social, Racial, Economic, and Environmental Justice	Instrument 2: Reflective Journals (552 – Weeks 2, 5 & 6)		80%	
	Instrument 3 – Biopsychosocial Assessment (597 – Campus)	Overall rubric score of at least 80%		
	Instrument 1: Practicum Evaluation	3, 4, or 5		
Competency 3: Engage Anti-Racism, Diversity, Equity, and Inclusion (ADEI) in Practice	Instrument 2: Reflective Journal (553 Wks. 2, 3, 4, & 8)	Overall rubric score of at least 80%	80%	
	Instrument 3 – Biopsychosocial Assessment (597 – Campus)			

Area of Specialized Practice: Clinical Practice

version 12.2022 | Page **6** of **11**

Competency	Instrument	Instrument: Expected Level of Achievement	Competency: Expected Level of Achievement for Competency	
	Instrument 1: Practicum Evaluation	3, 4, or 5		
Competency 4: Engage in Practice-informed Research and Research-	Instrument 2: Reflective Journal (552 – Wk 2)		80%	
informed Practice	Instrument 3: Non- Profit Creation and Presentation (565 – Campus)	Overall rubric score of at least 80%		
Competency 5: Engage in Policy Practice	Instrument 1: Practicum Evaluation	3, 4, or 5		
	Instrument 2: Case Study Evaluation (565)		80%	
	Instrument 3: Non- Profit Creation and Presentation (565 – Campus)	Overall rubric score of at least 80%		
Competency 6: Engage	Instrument 1: Practicum Evaluation	3, 4, or 5		
with Individuals, Families, Groups, Organizations, and Communities	Instrument 2: Practice Video and Progress Note 2 (552)	Overall rubric score of	80%	
	ACT Essay (553 – Campus)	at least 80%		
Competency 7: Assess Individuals, Families,	Instrument 1: Practicum Evaluation (552)	3, 4, or 5		
Groups, Organizations, and Communities	Instrument 2: Biopsychosocial Assessment (553)	Overall rubric score of at least 80%	80%	

Competency	Instrument	Instrument: Expected Level of Achievement	Competency: Expected Level of Achievement for Competency
	Instrument 3 – Biopsychosocial Assessment (597 – Campus)		
Competency 8:	Instrument 1: Practicum Evaluation	3, 4, or 5	
Intervene with Individuals, Families, Groups, Organizations, and Communities	Instrument 2: Practice Video and Progress Note 2 (552)	Overall rubric score of	80%
	Letters from the Heart Assignment (553 – Campus)	at least 80%	
	Instrument 1: Practicum Evaluation	3, 4, or 5	
Competency 9: Evaluate Practice with Individuals, Families, Groups, Organizations, and Communities	Instrument 2: Case Study Evaluation (565)		80%
	Instrument 3: Non- Profit Creation and Presentation (565 – Campus)	Overall rubric score of at least 80%	

Specialized Practice | Summary of Outcomes

[Delete this help text before submission: Repeat subheading and develop a separate table for each area of specialized practice.]

Area of Specialized Practice: Clinical Practice

Competency	Competency: Expected Level of Achievement Inclusive of All Instruments	Aggregate Actual Outcomes: All Program Options n = (Number of Students)	Program Option 1 Outcomes: Online n = (Number of Students)	Program Option 2 Outcomes: Campus n = (Number of Students)
Competency 1: Demonstrate Ethical and Professional Behavior	80% of students will demonstrate competence inclusive of 2 measures	N=230 97.60+100= 197.6/2 = 98.8	N=215 95.20%+100=195.20/2= 97.60%	N=15 100%+100%= 200%/2= 100%
Competency 2: Advance Human Rights and Social, Racial, Economic, and Environmental Justice	80% of students will demonstrate competence inclusive of 2 measures	N=206 98.01+100= 198.01/2= 99	N=191 96.03%+100%=196.03/2= 98.01	N=15 100%+100%= 200%/2= 100%
Competency 3: Engage Anti-Racism, Diversity, Equity, and Inclusion (ADEI) in Practice	80% of students will demonstrate competence inclusive of 2 measures	N=202 97.93+100= 197.93/2= 98.96	N=187 95.86%+100%=195.86/2= 97.93	N=15 100%+100%= 200%/2= 100%
Competency 4: Engage in Practice- informed Research and Research- informed Practice	80% of students will demonstrate competence inclusive of 2 measures	N=210 98.5+95= 193.5/2= 96.75	N=191 97%+100%= 197/2= 98.5	N=19 90%+100%= 190%/2=95

Assessment Data Collected on: 08.2024

Competency	Competency: Expected Level of Achievement Inclusive of All Instruments	Aggregate Actual Outcomes: All Program Options n = (Number of Students)	Program Option 1 Outcomes: Online n = (Number of Students)	Program Option 2 Outcomes: Campus n = (Number of Students)
Competency 5: Engage in Policy Practice	80% of students will demonstrate competence inclusive of 2 measures	N=234 98.8+95= 193.8/2= 96.9	N=215 97.60%+100%=197.60/2= 98.80%	N=19 90%+100%= 190%/2=95
Competency 6: Engage with individuals, groups, families, communities, and organizations	80% of students will demonstrate competence inclusive of 2 measures	N=201 98+100= 198/2 = 99	N=191 96%=100%= 196/2= 98	N=10 100%+100%= 200%/2= 100%
Competency 7: Assess individuals, groups, families, communities, and organizations	80% of students will demonstrate competence inclusive of 2 measures	N=202 98.45+100= 198.45/2= 99.22	N=187 96.9%+100%= 196.9/2= 98.45	N=15 100%+100%= 200%/2= 100%
Competency 8: Intervene with individuals, groups, families, communities, and organizations	80% of students will demonstrate competence inclusive of 2 measures	N=201 98.5+100= 198.5/2= 99.25	N=191 97%+100%= 197/2= 98.5	N=10 100%+100%= 200%/2= 100%
Competency 9: Evaluate Practice with individuals, groups, families, communities, and organizations	80% of students will demonstrate competence inclusive of 2 measures	N=234 98.8+95= 193.8/2= 96.9	N=215 97.60%+100%=197.60/2= 98.80%	N=19 90%+100%= 190%/2=95

version 12.2022 | Page 11 of 11